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1. (A) You are appointed as an auditor of a company. Discuss the points to be
considered before commencing the audit of a company. 14
OR
(1)  Discuss the provisions of the Companies' Act in respect of “Interest paid out
of Capital” u/s 208. 7
(i) State Auditor's duties in respect of “Share Transfer”. 7
(B) In the following sub-questions, select the correct answer : (any four) 4

(1)  Which of the following is not included in the clauses of Memorandum of
Association of company ?
(a) Name clause of the company
(b) Address of Registered office of the company.
(c) Clause of Liability of members
(d) The rights, liabilities and dividend rights of wvarious types of

shareholders.

(2) As per the requirements of the Companies' Act, the gap between date of
profit and loss account and the date of AGM should not exceed :
(a) 6 months (b) 3 months
(¢) 9 months (d) 4 months

(3) According to Sec. 208 of companies Act the percentage of dividend on
capital should not be more than-

(a) 4% (b)) 5%
(c) 10% (d 12%
(4) Bonus shares can not be issued from the following sources:
(a) General Reserve (b) Capital Redemption Reserve
(c) Revaluation Reserve (d)  Security Premium
(5) Minimum time lag required between two bonus issues is :
(a) 12 months (b) 24 months
(c) 36 months (d) None of the above

(6) Can the securities premium be utilized to convert partly paid up shares in to
fully paid up shares as bonus ?
(a) No
(b) Yes
(c) Can be utilised if articles of Association of the Company provides.
(d) Companies Act does not provide anything with respect to this.
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2. (A) Explain the meaning of the phrase “True & Fair View” used in Audit Report.
Distinguish between Audit Report and Audit Certificate.

(B)
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(ii)

OR
Discuss the importance of Audit Report.
Distinguish between Clean Report and Qualified Report.

In the following sub-questions, select the correct answer : (any four)

(1)

)

€)

4

)

(6)

To which of the following parties is the auditor expected to address his

Report :

(a)  Shareholder of the company

(b) Board of Directors of the company

(c) Central Government

(d) Company Secretary

If the auditor has given a qualified report, which of the following

consequences may result:

(a) The Board of Directors have to give reply to such qualifications in
Board's Report

(b) The Board of Directors have to resign

(c)  Auditor has to resign

(d) The Central Government may impose a fine on shareholder.

To which of the following parties is the auditor expected to address his
Certificate :

(a) Board of Directors of the company
(b) Central Government
(c) Shareholder of the company
(d) Not addressed to any party
is a statement of collected and considered facts.
(a)  Audit Programme (b) Report
(c) Audit Statement (d) None of the above
The date of auditor's report should not be -

(a) earlier than the date on which the accounts are approved by the
management.

(b) later than the date on which the accounts are approved in the Board's
meeting.

(c) the date of AGM.

(d) both (b) and (c).

In which circumstances clean Audit Report can be given ?

(a) Profit and Loss Account does not give a true and fair view of profit or
loss.

(b) When Balance Sheet does not give true and fair view of the state of
Affairs.

(c) Proper books of accounts are kept as required by law.
(d) Defect is found in examination of accounts.
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3. (A) What is divisible profit ? Explain the guiding principles for calculating divisible
profit.

(@)
(i)

OR
State the auditor's duties regarding divisible profit.

From the following information of Keshav Limited, determine its divisible
profit for the year 2017-18.

Year | Profit/ Loss before | Depreciation as per | Unabsorbed
Depreciation ¥ Company Law ¥ depreciation ¥

2015-16 —-2,80,000 4,20,000 3,00,000
2016-17 —2,00,000 2,80,000 1,80,000
2017-18 +12,50,000 2,50,000 —

(B) In the following sub-questions, select the correct answer : (any three)

(1)

)

€)

4

©)
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Profit of a company for current year is ¥ 10,00,000. Calculate the amount
required to be transferred to General Reserves, if the company declares
dividend on share capital @ 14%.

(a) 25,000 (b) 50,000

(¢) 75,000 (d) *1,00,000

The profit that is to be distributed among shareholders as per prescribed rate

of dividend is called:

(a) Divisible profit (b)  Gross profit

(c) Reserve profit (d) Capital profit

Which of the following is not a guiding principle in computing divisible

profit ?

(a) The generally accepted principles of accountancy should be followed.

(b)  The provisions of the Companies' act must be strictly complied with.

(c) The regulation of the Memorandum and Article of Association must
be complied with.

(d) The reputation of the company must be maintained by any means.

Which of the following statements is not correct for the divisible profit ?

(@) No dividend can be declared without providing for depreciation on
fixed assets.

(b) The Board of Directors can declare interim dividend.

(c) Dividend cannot be declared from the profit prior to incorporation.

(d) The members of the company have the power to raise the rate of
dividend being declared by the Board of Directors in the general
meeting.

Which of the following statements is not a consequence of over valuation of

profits ?

(a) It may result into payment of dividend out of capital.

(b)  This will protect the interest of the debenture holders and creditors.

(c) More profits will attract more tax liabilities.

(d) It will result into more payment of managerial remuneration - if based
on profits.
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4.  (A) What is an audit programme ? Prepare an audit programme of Educational

(B)
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Institution.
OR
(i) Discuss in brief the points to be considered while preparing an audit
programme.
(i1)) Distinguish between Audit and Investigation.
In the following sub-questions, select the correct answer : (any three)
(1)  Which of following statements is correct ?

)

€)

(4)

)

(a) The term 'Investigation' implies an examination of accounts and
records for some special purpose

(b) Investigation is compulsory under the Companies' Act.
(c)  Audit Report must incorporate the details of investigation.

(d) The Investigation is always carried out as per the instructions issued
by SEBL

Which one of the following points is not relevant in relation to investigation
when there is considerable increase in gross profit in spite of steady sales
figure ?

(a) Examinations of reasons for increase in the percentage of gross profit.
(b) Increase in the price of raw materials.

(c) Closing stock might have been overvalued.

(d) The purchases are omitted from being recorded in the books.

Which one of the following is not required to be considered for
“Investigation in case of suspected fraud” ?

(a) Embezzlement of cash to be examined.

(b)  The nature of fraud suspected.

(c) Disqualifications of Directors of the company.

(d) The period of investigation to be covered.

Which of the following details is not required to be obtained before

preparing an audit programme ?

(a) Accounting system adopted by the competitors

(b) System of internal check

(c) Technical details of business or institution

(d) Report of the previous auditor.

Which of the following statements is not correct in regard to verification

and valuation of assets and liabilities, while preparing an audit programme

of a college ?

(a) Cash on hand and balance with bank should be verified as usual.

(b)  The stock of stationery and furniture should be physically verified.

(c) All the debts and liabilities should have been accounted for.

(d) The investment made for specific purpose should have been recorded
properly.
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